6 BAH
R ]



TN jg:QTEI

TN

3l

2 R

HERORHAL “17 B

(1) FEI ) A H U AL 37.5%.

(2) KARPHARNL Z TRV AEI60% .

1
(3) UKFEHT#% ) %%KM%%%O

(4) FERBAEROR AR, IR
4

SR AR EH

2
3



= HaEa

R WAH I R L3 B B T 20% , 5H R
1% L4 H Xk 1720% o S5 H IS A3 H LRk 1 ik
elE T ARE R D

=7/ e, R T
\@% A

/ﬁﬁﬁmﬂﬂﬁﬁ%4HZ@ o
RS LIRE, Rk 2
Rk IR A, B RVE [
I
VR ?

S Y




N BERFH

SRR A A RS L3 H % 7 20% , 5H I
& Lha H 3k 120% o« SH IS 3 H L2 TK 1 ik
& 1 ? IR E 2D
{ﬂuﬁiﬁﬁhﬁ%sﬁ n I“ AH ikt

" 100 X (1—20%) =100 X80%=80 (i)
%2 1007C . ’ ’ ot

2) S
80 X (1420%) =80 X120%=96 (Ji)

(3) 5HFI3H s EL s -
9671 <<1007%
(4) RALIE
(100—96) +100=4 +100=4%
% SHRMMS 3 A ELRE 17, ALIREEE 2
[EAR T 4%




. RAFH

R WAH I R L3 B B T 20% , 5H R
1% L4 H Xk 1720% o S5 H IS A3 H LRk 1 ik
elE T AR R D

=/

3 {*ﬁ**ﬁﬂ‘-ﬂu@} {Mﬂuﬁ%ﬁﬁ%&ﬁtﬁﬁsﬁ

FEA? AL

(1) 1X (1—20%) X (1+20%) =0.96
(2) (1—0.96) +1=0.04=4%

Z: SHEME A A LLRE 1, AR 2 K T 4%.



.\ BaHm
R AR MR L3 A % 720% , 5 I

1% L4 H Xk 1720% o S5 H IS A3 H LRk 1 ik
v /EMCH?E%%%M/ X

X AR aiif
BB i 3 H AT A 2
ast, RIFEIRIE5 A
HIJ T 743 21 B 45 102 — X
6

- J

(1) aX (1—20%) X (14+20%) =0.96a
(2) (a—0.96a) —a=0.04=4%
% SHIMMEAISH ELRF 1, R0 2 B R 1 4%,




. WAFH

R WAH I R L3 B B T 20% , 5H R
1% L4 H Xk 1720% o S5 H IS A3 H LRk 1 ik
elE T ARE R D

/ﬁ$11‘1¢§~f§, AL BN
Ak A B B A A2 20%, 1H
BEAR FNRAN 0 BARER B A
g 2

\_

™ e /‘
S

o {%ﬁ@ «q” m}
- | AL




= ARNMA

1. FEBAHL) o R I A B 5 p B AL B 22 S 1 72 50%,
SEFR X EEIH RN P2 &2 2R 77 1 10%. A5 iy B A ATL
SERISERREEEEFER AT 2E /00

Tk
R Z=Fr =2 1005
(1) Stk &:

100X (1+50%) =100X150%=150 (&)
(2) HSFSLbrr&:

150X (1410%) =150X110%=165 (&)
(3) 165-+100=165%
% SRR E A S 165% .




= ARNMA

FHARAL) TF ) 3 A0 Y 5 i) B AL B 25 SR 14 72 50%,
CER M R 2 Em 2 477 1 10%. e A8Y 5 ) B AL
SERLREEEEFER A2 /b?

1.

o

\L

7>

PR/

Bk EFE B 2L

1X (1450%) X (1+10%) =165%
Zre S SEBRT E R LT H165%.



9O A #1 Xk 8 A
MEET 15 %,

0 F 1% 2 A ks He 7 F
BT R T 7 kBRI

e )
SERIFESR B —TR | (1) 1x (14+10%) X (1—15%) =0.935
IR, HHIRE

e R (2) (1—0.935) —1=0.065=6.5%
O 55 25X [ 7 18 ’

. % OHMINEM T AVIB T, BT 6.5%.
J




KRB

3. FMRBEJE I, B AEAS [F] AR ik 35 LLEEA4 180
TCHIIT RS R, 4R — N 7 20%, 55— T
m%,¢MﬁLA%mLﬁ$%&K% fR[A
/N WA 0 v T 2

180+ (14+20%) =150 (JT)
180+ (1—20%) =225 (J0)
180X 2=360 (JC)
150+225=375 (J©)
37576>3607G

Zre WG T, ADHITREART

TR IR J




Pa. A E ARk

(X%

\i
Juy
O
w
=
SHY
A

4L, B128E, HH13,

\TY
JOT
H
N
e




